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Customize this Slideshow

Reflecting your Teaching Style and Learning Needs of Your Students

> When the Google Slides presentation is opened, it will look like Screen A.

> Click on the “pop-out” button in the upper right hand corner to change the view.
> The view now looks like Screen B.

> Within Google Slides (hot Chrome), choose FILE.

> Choose MAKE A COPY and rename your presentation.

> (Google Slides will open your renamed presentation.

> |t is now editable & housed in MY DRIVE.
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Lesson 34

Objective: Model n—nm and n—(n— 1) pictorially and as subtraction
cEntences.

Sugpested Lesson Structure

B fuency Practice {12 manuies)

B Apphkcateon Problem {5 manatesy
Concept Development {33 manutes)
B Student Debrief {1d manutes)

Total Time {60 rinurtes)




W Materials Needed

e [: Number Bracelet of 10

e [: Whiteboard

e S:Personal White Boards

e S: Number bracelet of 10 beads made with 5
red and 5 white beads (see lesson 8)



| can show n-1 or n-0 with a picture
and subtraction sentences.




+ —
% = 1 less, 2 less

I’ll say a number.
You say 1 less on my signal.

Get Ready!



1 less, 2 less
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Sprint

Let’s do a Sprint!

A Mumber Correct:
Addition B Momber Corrects .
1, 3+1= 23 1+2= Addition Improvement:
2. 4+1= 24, L 2+l= 23, 1+8=
3, B+ls= 25 . 2, i+l= 24, 3+7=
4 Q+1= 26, T 3. 4+1= 25. 1+8=
5, 6el= 27, L+ ds 4 B+l= 26. 2ed=z
&, B+l= 28 5= 5, Gel= i 1+4=
7. Z+l= 29 1+3= 6, T+l= 28. 2+3=
8. Tel= 30 L+5= T +l= 29, 1+3=
g, 1+7= 31, i+3= 8, G+l= 30. 1+2=
10. l+9= 35 4+3= 9, l+éb= 31, 3+3=
11, I+és= 33, Beds 10, 1+9= 32, 4+3=
12, 2ed= a4, b= 11, 1«7T= 33 5+3=
13, 32z L LT T+ds 12, 2+2z 34, T+i3=
14, 4«2z 36, 3eT= 13, 3+2= 35. G+3=
15, B+2= 37, 3+4= 14, 442z 36, 3+ 6=
16, B+2= 38, 3eE= 15, T+d=z 37. 3+6=
17. be2= 39 ded= 15, Ba+2z 3B, I+ 4=
18, Tedz 40. Bl = 17. B+2s= ig, 4+4z
19, 2+7= a1, & vl = 18, be+2= 40, B+dz
20, 28z 42 deb= 19, 2+bh= 41, B+d=
21 2+5= 43, 4+5= 20. Zs8= 42, 4+46=
22 Zebs 44, 5B 21, 2+58= 43, 4+5=
22, 2+7= 44, 5+56=




x = 0O Less, 1 Less

When | give you the signal, | want you
to answer the problem.

Get Ready!



: ; O Less, 1 Less

1 less than 8 is?
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: ; O Less, 1 Less

6 minus 0 equals?



: ; O Less, 1 Less

O less than 9 Is?



: ; O Less, 1 Less

Qi1s 1 less than...?



: ; O Less, 1 Less

9 equals 10
minus...?



A

Mame

Let’s do a Sprint!

Mumber Correct:

Date

Sprint

L

*Write the missing number from each subtraction sentence, Pay attertion te the = sign,

v 2-1=11 6| [1=10-0
2| 1-1=01 7. O0=10-1
3.(1-0=0 .| O0=9-1
4+ 3-1=01 g O=7-1
5| 3-0=0 | O=z6-1
e. | 4-0=0 2.l O=6-0
7| 4-1=0 2| d=8-0
.| B=-1=0O 23| 8-1=8
o.| 6-1=011 24| O0-0=8
w| 6-0=01 5| 7-0O0=6
i, | 8-0=0 x| F=7-0
12| 10-0=03 27| 9=9-0
1. 9=-0=0 »| O-1=7
w| 9-1=0 2. [1-0=8
15 10=-1=1 .| 9=0-1

B

Mame

Mumber Correct:

Dhate

I

*Write the missing number from each subtraction sentence, Pay attention fo the = sign,

L[ 3=1=T1 s 0=10-1
z| 2=-1=0 .| O0=9-1
il 1-1=0 B O=7-1
4| 1-0=03 w| O=7-0
5. 2-0=0 20. O0=8-0
6. | 4-0=01 2| O=10-0
7. 9-1=0 2| O0=9-1
8. | 7-1=0 3..9-L1=8
5. | 8-1=0 4| O0-1=8
| 9-0=0 x| 7T-0O=6
n| 10-0=0 26| 6=7-0
2| 7-0=0 z7.| 9=9-0
| 8-0=0 22| OJ-0=9
w|10-1=1 2% 0-0=10
51 9-1=0 .| 8=01-1




Application Problem

Eighty-three beads spill on the floor. A student picks
up 1 bead. How many beads are still on the floor?

Write a number bond, number sentence, and a
statement to share your solution.

Extension: If a second child picks up 10 more beads,
how many beads will remain on the floor? Use
number bonds to show how you know.

RDW




Q Concept Development

Stretch out your bracelet into a long line of beads
like we did in our last lesson.

N

How many beads do we have in this set?

Now take 10 beads aWay. (Push beads to the side)

How many beads do we have now?



Q Concept Development

Write the number sentence to show what you did.

Then write a number bond. %




Q Concept Development

Start with 8 beads now.
Now take 8 beads away.
How many beads do we have now?

Write a number sentence and a
number bond to match.




Q Concept Development

Start with 7 beads now.
Now take 7 beads away.
How many beads do we have now?

Write a number sentence and a
number bond to match.




Q Concept Development

Start with 6 beads now.
Now take 6 beads away.
How many beads do we have now?

Write a number sentence and a
number bond to match.




Q Concept Development

How are these problems similar to each
other?

When we have a number and then
subtract that exact number, what part
are we left with?



Q Concept Development

Let’s try something different. Start with
10 beads again

Take away 9 beads.

How many beads do we have left?



Q Concept Development

Write the number sentence and a
number bond to show what you did.

O




Q Concept Development

Start with 9 beads again
Take away 8 beads.

How many beads do we have left?



Q Concept Development

Write the number sentence and a
number bond to show what you did.

O




Q Concept Development

Start with 8 beads again
Take away 7 beads.

How many beads do we have left?



Q Concept Development

Write the number sentence and a
number bond to show what you did.

O




Q Concept Development

Start with 7 beads again
Take away 6 beads.

How many beads do we have left?



Q Concept Development

Write the number sentence and a
number bond to show what you did.

O




D Concept Development

How are these problems similar to each
other?

X
A% Turn and talk to your partner. How
are these problems similar?



Q Concept Development

Let’s try a few more.

This time, try to complete the number
sentence and number bond without
using the beads.

Then, check your answer using your
beads.



Q Concept Development

Start with 6 beads again
Take away 6 beads.

How many beads do we have left?

Try to complete the number sentence and number
bond without using the beads.



Q Concept Development

Start with 6 beads again
Take away 5 beads.

How many beads do we have left?

Try to complete the number sentence and number
bond without using the beads.



Q Concept Development

Start with 8 beads again
Take away 8 beads.

How many beads do we have left?

Try to complete the number sentence and number
bond without using the beads.



Q Concept Development

Start with 8 beads again
Take away 7 beads.

How many beads do we have left?

Try to complete the number sentence and number
bond without using the beads.



Q Concept Development

Start with 9 beads again
Take away 9 beads.

How many beads do we have left?

Try to complete the number sentence and number
bond without using the beads.



Q Concept Development

Start with 9 beads again
Take away 8 beads.

How many beads do we have left?

Try to complete the number sentence and number
bond without using the beads.



Q Concept Development

When you are working today, see if you
can figure out how to tell quickly that
the answer to a subtraction problem will
be 1 or that the answer will be 0.



Problem Set

12345 8 Problem Set

Moame Date
Cross of f to subtract, m
B-T=1
I, s¥Rrew O 2. |vPrew O
bB=6= S=-0=

Subtract, Make a math drawing, like thase above, for each,

3, 4,

F=Te___ 7-6=__
5, b

10-10=___ 10-9=___
7 8.

B-8=__ 8-7=__
g 10,



Problem Set

12345

Problem

Cross of f, when needed, to subtract,

o
11 o 12, E 13,
[
¢ 2
& &
- ®
. L
b=-6= B-8-
Subtract, Make a math drowing, like those above, for each,
14, 15, 16,

B-/7=__

7-7=__

17, Fillin the missing number, Visualize your S-groups to help you,

a 6-6=__ b. 6-5=__
c. f-_ =0 d 7-6=__
e. 8-8B=__ f. 8-__ =1
g 9-__=0 h. 9-8=___

i, 10-___ =10 j 0-__ =1

eeeee® 0000

e



=% Debrief

What pattern did you notice between
Problems 3 and 107



%% Debrief

How were your drawings different in
Problems 5 and 67?



@ Debrief

How did the Application Problem
connect to today’s lesson?



@5 Debrief 3

How can solving 10 — 10 help you solve
1,272 -1,272; 10,629 - 10,629; or
1,000,000 - 1,000,000



@ Debrief 63

How can solving 9 — 8 help you solve
(59 - 7358... 2,478 -2,477 and
1,000,001 - 1,000,0007



n EXIt Ticket

Mlame Date

Make S-group drawirgs to show the subtraction,
1, 2,

0 = =1 0=10~-_
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